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Question Numbers : (1 to 20)



Data Sufficiency (§&o8 Wo°3e©)

Note: In questions mumbered 1 to 20, a question 1s followed by data m the form of two
statements labelled as T and II. You have to decide whether the data given in the statement 1s
sufficient to answer the questions. using the data make an appropriate choice from (1) to (4)
as per the following guidelies:

a)  Mark choice (1) if the statement I alone 1s sufficient to answer the question
b)  Mark choice (2) if the statement IT alone 1s sufficient to answer the question

¢)  Mark choice (3) if the statements I and II together are sufficient to answer the
question but neither statement alone is sufficient,

d)  Mark choice (4) if the statements I and II together are not sufficient to answer the
question and additional data 1s required.
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Sub questions

Question Number : 1 Question Id : 8119672956 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What 1s the cost of each pen?
2087783, ey DOK Joth ?

L. Cost of 3 pens and 4 pencils 1s Rs. 10
3 ) &0 00K 4 30y¥y w0 & . 10

[I.  Costof 12 pencils and 9 pens 1s Rs. 30
12 303505 S0000 9 Aoy o 0 &, 30

Options :

.

, 2

Question Number : 2 Question Id : 8119672957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s the value of X?

X 2085 0doth?

I. XIEIN=9.
I1. 3X+9Y=27.
Options :

1.



-2

¥

Question Number : 3 Question Id : 8119672958 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
For the positive integer n, is n-10 odd?
Q3 rorodadn n 80, 1-10 232 Joagoe?
L. n— 16 is a positive integer
n— 16 &3 QProrosain
II. n+12iseven
n+ 12 00 Soddg

Options :

1

1. %



Question Number : 4 Question Id : 8119672959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Four fiiends, A, B. C and D got the top four ranks in a test but A did not get the first, B did

not get the second, C did not get the third and D did not get the fourth. Who secured which
rank?
Seutfodh 9y ardaen, A, B, € hofn D ad 205" aondhed e cogeloen droteld w0 A §

00530 TR0, B & Botiasty P, € 8 o0iiad 008 D & oy o 0RO, S ) g
PRord)?

I. Neither A nor D were among the first 2 ranks.
005 2 rgoeS A e D O%

IL. Neither B nor C was third or fourth
B & C alireisl S TR Qj\éocﬁé 3o)

Options :

1.331

-2

w
)
Lad

4, #

Question Number : 5 Question Id : 8119672960 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What is the value of x in the equation 2x +5=11?
2X + 5 =11 5080830 & X DS odoh?

I x=3
II X 1s a prime number.
v W
X Q2T Roadg

Options :

1. 1

-2

Question Number : 6 Question Id : 8119672961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
What is the two digited number whose first digit is a and the second digit is b?

000563 €903 @ o500 Botésd 88 b 1 (o DotiaBe) Howdg 30 ?

. The number is a multiple of 62

& oy 62 Gy, (edeso
I a+b=9
Options :
v 1
2, ® -



Question Number : 7 Question Id : 8119672962 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is the Cost of the book?
E:J_)égo EJJ&CEJ o:l'ca@?
I: A man earns a profit of 25 % on selling a Book

28 558 8o WY Fo P 25 % wrae FolEEE

IT: The selling price of book is Rs. 5000
D80 2910y So GO Graralen 5000

Options :

1

-2

Lad

Question Number : 8 Question Id : 8119672963 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
what 1s Priya’s rank from the top in a class of seventy students?
G232 ol EPgBILNS) SEISS 2 Dok 2D T30S Woth?
[.  There are six students between Priya and Charan.
205 SO0 w08 206y bl Harglocy &avy) K.
II. Charan 1s eight from the top.
08 2 Do WG TogoS.

Options :

1.331

-2

Question Number : 9 Question Id : 8119672964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
What % of 32 1sx ?
32 (‘55 X o:‘of:":é Foehg 7
[. Xis 10 percent of 20
20 ¢5° 10 3¢9 X
IT. 800% of x 1s less than 4
X 52 800% 4 5o¢3 efaéozrsi

Options :

1.%?’1



Question Number : 10 Question Id : 8119672965 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How is Deepa related to Laxmi?

OS5y 8 OD 5 eSS Dotdolio @Sy &?

[: Deepa’s mother is sister of Laxmi’s father.

QD BY 08y Bol G, WO

IT : Deepa is the daughter of Laxmi’s grandfathers only son
O, L8 CINEy T Iy eSeusy oI Sty

Options:

1.

)

3



Question Number : 11 Question Id : 8119672966 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
What is present age of Shilpa?
30 S, 98 SO0y odos?
. Shilpa's present age is five times of Rahul's present age.
30) RS S0y T%RO DR Ay Sy 0l Béy
II.  Five years ago her age was twenty-five times of Rahul's age at that time.
) Doaiyom0 §680 B0y S0y @) TPERT 0Ny S, 90l il B

Options:

x 1

-2

Question Number : 12 Question Id : 8119672967 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
How is PROCESS written in that code language?
6 F W u " r 0
§'G 2°2eS PROCESS o) &0 TP T°pd0?
I. In a certain code language, QUEUE is written as RVFVE.
Q0 §°G 20, QUEUE ©36 RVFVF @09 roeGod
II. In a certain code langnage, CRWTH is written as BQVSG.
203 §G 570, CRWTH 936 BQVSG @09 gpolizted.

Options :



Question Number : 13 Question Id : 8119672968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Is the integer number n divisible by 157

QPoP0So 11 o 15 &POHowe ?

1 9 divides n.
N D 9 2O

IL. 20 divides n.
N D 20 PO

Options :

1.“*’31

)

Lad



Question Number : 14 Question Id : 8119672969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
How many pages of book X did Robert read on Sunday?
G 0" X ors” )y weden WHoart?
L The book has 300 pages out of which two-thirds were read by him before Sunday.
& QS0 6 &) 300 VS Bole0td P S0t B @oth 0 addolh) estd o
W)

Il Robert read the last 40 pages of the book on the morning of Monday.
2" & 80 G b oz wefe Fa o Gliaho WPl

Options :

1.8 1

-2

Question Number : 15 Question Id : 8119672970 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



How many employees of the Bank opted for VRS?
oot ool BJ°§O§ C—af)ﬁg(v ven VRS @0@5’0@;@?

I 22% of the 950 officer cadre employees and 16% of the 1100 other cadre employees
opted for VRS.
950 a6 860 &ddgrhed 22% SHoaf 1100 986 56 adgied’ 16% VRS

o0 0.

Il 32% of the employees in the age-group of 53 to 59 and 19% of the employees in all
other age-groups opted for VRS.
53 o 59 DodiehyTr SO0 (0 G 32% SH0aH B9 3BT S0K)-

Sl 19% ecfgen VRS sty 8.

Options :

1o 1

2.*2

Question Number : 16 Question Id : 8119672971 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What is the total distance travelled by a train?

o éQﬁJ”EﬁOmﬂrﬁ ﬁ.‘x}@o GPUo 0doth?

I: The train travelled at an average speed of 80 km/h for 4 hours.

O 4 flodoen arén S (1ol 80 55" o e &5 HOIrElo0d

IT: The train travelled at an average speed of 100 km/h for 2 hours.

Swo 2 (foboww aPen (KNS (106050 100 56 & 3o &8 HOLPElo0R

Options :

Question Number : 17 Question Id : 8119672972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How many persons attended the meeting?

&3 02950 0dod ol FeBASEgd ?

I. Each registered person can take two persons with him/her.

SPED JWEI), DB H38 BeSeS” RO BB -

IT. There were totally 180 registrations for the meeting.

& 02IH0 3o 180 a0l SBPE WS ey .
Options :

1.



-2

Lad

Question Number : 18 Question Id : 8119672973 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the two triangles What 1s the value of P+Q+R+S ?

&t ot BabereS® PHQHRS Dea odod ?

Q R
p A B S
L A+B=90°
IL P+Q=R+S
Options:
1

1.4



)

T4l

4% 4

Question Number : 19 Question Id : 8119672974 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What is the age difference between Peter and his brother?

HES6 OO BB WA a0y SOV W0 wos?

I . Peter's age is 3 times his brother's age.

286 S0y BB WWR SO0y Sold SSPED TEY.

II. The sum of Peter's and his brother's age is 40 years.

235 sDO0KN BB WA oYL e 40 DoadthyTreD
Options :

1.331



Question Number : 20 Question Id : 8119672975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

How many students scored more than the average marks of the class in a test?
8 DOEE SO T S0y 0 Kot w0 3,6 PREIS DRI Wotb ?

I. The average marks of the class was 70
OIS Ak redop en 70

IL. 10 students scored above the arithmetic mean of the class
10 206 axmgdoen HGISSD @oSIeIth 5 S0l 0305 ¥ 80 PRl

Options :

Is Section Default? : null

Question Id : 8119672976 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (21 to 25)



Problem Solving WAVARAN
Sequence and series OSSP 00K Faw
Odd thing Out RO (000l

The followmg questions have somethmg 1 common except one that 1s odd. Find odd thing
out from Question 21 to 23

& Sold )Y D06 08 ¢ 81 AR 28 FArFsS SO0 Golmou. & HOFOAD )0
21 cdow) 25 8% G 8) ) Relrardo gdgobs

Sub questions

Question Number : 21 Question Id : 8119672977 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Find Odd thing from the following

808 aPE3ES" DS S TR, ET S0l

Options:

_— Cricket -§5¢&

5 o Chess- w568

- Hockey- &°8

Football -9)&ems
4, %

Question Number : 22 Question Id : 8119672978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Find Odd thing from the following
éo& are3es’ ?ﬂrﬁl@rﬁ Y, E0(T dole

Options :

. » bbDEFH

2 % CCEFGI

3 » aaCDE G

, o HL

Question Number : 23 Question Id : 8119672979 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Find Odd thing from the following

go& are3es’ ?ﬁrﬁl@rﬁ P, E0(T dobe

Options :

L% 121

2. % 144

o x 169

4 v 226

Question Number : 24 Question Id : 8119672980 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Find Odd thing from the following

800 TPEIES" B)S) A0S TPRY ST S0l

Options :

, » Nephrology — Sgrees

Astrology - esgrqozd
'\-».Uu"/ — |

Pathology — ar&rezs

4 » Mycology- aos'es

Question Number : 25 Question Id : 8119672981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Find Odd thing from the following

300 3¢S D) S TR, EST S0l

Options:
. » OXygen — ISEES

, » Nitrogen — S¢S 22

Carbon — 5‘*6?55



4V Helium — s»03e

Is Section Default? : null

Question Number : 26 Question Id : 8119672982 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Problem Solving SNVSIEVIAN
Sequence and series KNV SV VIO VW 5 WOV
Odd thing Out Sk I SINTAT VIS TRV

Find Odd thing from the following
Sobd TPEIES” 8IS S TRy ST Sols

Options :

1 Sanskrit — 0oy ySe
5> % Ashu Lipi — e@) O

~ Sanket Lipi — 03¢5 O
3. %

Shorthand —apd” Pge
4. % ™

Question Number : 27 Question Id : 8119672983 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving SRVSIEVAN

Sequence and series LINVESNVSVINVeTo MY ggaam
Odd thing Out Sk I SINTAT VIS TRV

Find Odd thing from the following
Sobd TPEIES” 8IS S TRy ST Sols

Options :

aB EF jj

1. %
, « bCFGk
_PQTUyz

4 % tUXY bc

Question Number : 28 Question Id : 8119672984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Problem Solving SRVSIAN
Sequence and series LINVENVASVINVTo WY gamw
Odd thing Out ROFOSE (VO

Find Odd thing from the following
Sobd TPEIES" 25 S TRy ST Sols

Options :

1 = Land — e

Labour — 3%
2. % =



3 Profit — <2l

4 » Capital — o Gde

Question Number : 29 Question Id : 8119672985 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Problem Solving SADSIEVIAN
Sequence and series INVENVSMINVTo VW MOV
Odd thing Out ROFOSE (000

Find Odd thing from the following
Sobd TPEIES" IS S TR, ET Sole

Options:

- Apple — s

Orange — es0023

Pineapple — o0&
3. % =

Tomato — ¢S odes
4.

Question Number : 30 Question Id : 8119672986 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving SRVSIEVAN

Sequence and series LINVESNVSVINVeTo MY %@Jm
Odd thing Out Sk I SINTAT VIS TRV

Find Odd thing from the following
Sobd TPEIES” 8IS S TRy ST Sols

Options :

| » Nest— loVilay)

. Stable - (WG T

Hole — Seut (Gotio)
3 %

Boat — oS
v

Is Section Default?: null

Question Number : 31 Question Id : 8119672987 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving Ra0Rg P
Sequence and series O8I HOCK Fewen

Missing Number RENMENCES JRAgY

Note: The following question follows a definite pattern. Observe the same and fill i the
blank with suitable answer

Arcdd: S06d fa%cb 03) w8 asrbaé@é R TA) 3‘3&3}}}0&. €2 AP (iRoc)
202003 aTERees” 879 & JPOovdo.

Find the Missing Number

\‘53&0\"05 XJOEDS D ST el

0.5.2,45,8,1235,

Options:

1. % 16
5 « 18
3 % 17

4 % 19

Question Number : 32 Question Id : 8119672988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving SAVVEVAN
Sequence and series SSHTE HO0) §§a>w
Missing Number i) Doy JRSARIY

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

it Gots NS 08 w8 AXNORA ST 0B, & AT H50000)

28000 NeireRSees” g 2POouios.

Find the Missing Number

B\S Doy & LS

3, 10, 17,26, 37,

Options :

1. % 46

49

Question Number : 33 Question Id : 8119672989 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving HAIEAN
Sequence and series oD% SO0 e
Missing Number G o3 JRSALOY

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

Arid: G0t D 98) 208 DNSN AT FBR08. &8 HAFTRD ot

202008 dFERoes” a9 @ YPOovik.

Find the Missing letter
S0 RO STl
RUXAD__

Options :

1. % E

Question Number : 34 Question Id : 8119672990 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving RAWIGVAN

Sequence and series EAVUIVNCONE Y
Missing Number S Roay/we

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

Aesi: 3065 N 09) 8 DI MAPTRD 0. &8 ddrarid Adodod)
B00S NFEEoes” 8P Q JPdoviob.

Find the Missing letter

S B2V STl

aB,bB.cD.dD.

Options:

eE

1. %

2.v €F

3.33ﬂ:

4. % fG
Question Number : 35 Question Id : 8119672991 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving Qg PO
Sequence and series EIWAVESUGOWE OV

Missing Number SR :00&.35/ AoV

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

A S06 WV D) &8 DD HSurrid P08, 8 BT (o)

28900 NaFEESeed” ard o QPOoulole.

Find the Missing Number

B0y Somg & (ol

1,4,27,256,3125,
Options :

1. = 1776

, % 56646

5 v 46656

4 % 1296

Question Number : 36 Question Id : 8119672992 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving Rag TS
Sequence and series SAVSNGSUVOOWIE VSV
Missing Number RNNENE) [T

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

Arcda: Soth QE)JR‘J 03 w8 aJrf)L)ej@é TP 3"&3?’_9)0&. 22 DPIPAD (femoc)
800 NeEPSets” gPP J WPOouiok.

Find the Missing Number

Sy oy ) SddTdol

9.10,16,33, 83.5,

Options :

| % 250.5

, v 2515

h

5 % 252

4 % 249.5

Question Number : 37 Question Id : 8119672993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving RAVHIQEAN
Sequence and series o8P0 OO Fwew

Missing Number G oa JRA3Y

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

AriSed: Socd AND 08) 208 PONIRD e P08, &8 AP o)

20200 2airerdoss” aP9 3 JFoiel.

Find the Missing Number

cﬁé&sfé ?\’Jowg o) ST el
273,264,239, . 109,-12
Options :

1 % 225

, « 181

5 v 190

164

Question Number : 38 Question Id : 8119672994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving MWV

Sequence and series SDSeS7e SHO0L) e
Missing Number Garyd Doy [T

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

s Goo @OND ) wS dDNIROD SSPTR 1BAR0B. & BT (o)

20900 DeiFRS0ed” gD o 2 POouioe.

Find the Missing Number

B0)S Sowg B Koot

6, 12, 20, 30, 42,

Options :

1. % 50

Question Number : 39 Question Id : 8119672995 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving Qg PO
Sequence and series SIVSAWVAVCONE SV
Missing Number By "n)oaa?g/ L)

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

s 06 w0 99) &8 DONOR ALPTR Finod. & HATTH 13200

080008 eFFRSoes” g9 @ JPOoiod.

Find the Missing Number

S oy &) SdiTdels

32,4024, 16,24,
Options :

1. %= 16

Question Number : 40 Question Id : 8119672996 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving Ry S

Sequence and series SIVSVESUN GO #V3V
Missing Number ST fooajy ALY

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

A S0 @OND D8 w8 NI ST 0B, & P 550900

28900 QelrerSoed” §79 9 W POovioe.

Find the Missing Number

53)585 XJOED% ) S ol

3,4,7,8, 11,12,

Options :

1.33?

, w10

3 = 14

4.4 -

Question Number : 41 Question Id : 8119672997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving SAMIEIAN
Sequence and series SahSare OGN @’;‘a}w

Missing Number B oaf JRSALIY

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

Amiss: 06 wNO D) w8 DO i 008, & SRFTHD o)

200900 NaFErSeed” ard 9 2P Oowole.

Find the Missing Number

80y Sog & $0od

Options :

12

1. %
2. v 14

".J'
% 27

N
T

Question Number : 42 Question Id : 8119672998 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving Radg PO
Sequence and series W8T HOCKD Feen

Missing Number o)) oa [PV

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

Amisi: 008wy 99 a8 IR0 SRR BB, & SSETD o)

200900 DFTRS0es” g o 2 POowote.

Find the Missing letters

SANVICHOTIM WV
CMM,E00,GQQ,  .KUU
Options :

1 = GRR
, » GSS

;v ISS

4 x APT

Question Number : 43 Question Id : 8119672999 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving HRVIEEAN
Coding and decoding gof sbaty A8 Eoh SRRNOY

Note: The following question use a different coding pattern. Identify the pattern and
answer the question.

AP S0l B )0 30 e §'6eoN) SPe) G)AIPOowl. & Sabrarad (0o, 8y 0
QoGS0 Bl 30

If in a certain code * SCALE “ is coded as * ELACS *, how * CREAM * be coded?
WSS € 0 SCALE “ % §°6 “ELACS ‘ eondd , “ CREAM * & oder §6 W ?

Options :
, « MEARC
, » MAERC

. « MAECR

, » MAESC

Question Number : 44 Question Id : 8119673000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving AV

Coding and decoding §doh &80ty &8 coh Qe

Note: The following question use a different coding pattern. Identify the pattern and
answer the question,

APS: Sold 3 )% Jdgh §'6eol) Sarrad 6)aTPNoaPd). & SoldPe) (060w, 93) %0
AP0 Bd10b.

If * NOVEMBER ° 15 coded as - PQXGODGT °, how would * MARCH * be coded ?
‘NOVEMBER ‘ & ‘PQXGODGT ‘ e §'& &%, * MARCH * ode §'G a2ty ?

Options:
. v OCTE]
, « OCTEI

5« OCSET

4. ®* OCTEF]J

Question Number : 45 Question Id : 8119673001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving NAREVAN

Coding and decoding §cof ot A8 Eoh R

Note: The following question use a different coding pattern. Identify the pattern and

answer the question.

APuS: S0 ad)S ) %0 03§l Srapad GI0UPNoRPE. & eliread (o, ) 0

RGP0 83 0be.

In certain code 'HILTON' is written as TH T LN O'. How is ‘BILLION' written in that code?

eSS §6 @ HILTON ‘0 ‘THTLN O, o9 “ BILLION ‘g §6 & otr orpl?
Options:

. IBLLION
1. %

, » IBOILLN

. » IBLLOIN

, » IBLOILN

Is Section Default? : null

Question Id : 8119673002 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)



Problem Solving AV (AN

Coding and decoding 830 000ty ¢80 QR

Note: The following questions use a different coding pattern. Identify the pattern and
answer the questions from 46 to 43,

P Sotd By ) 080 050 § o) oo GIAP o). & Sefurined thowd, 46 o)
48 334) %) Vdreeido 8o,

Sub questions

Question Number : 46 Question Id : 8119673003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If "ABLE" is coded as "23-24-8-1", how will you code "DARK"?

"ABLE" &3& "23-24-8-1"mP §'€ 3002068, i "DARK"Q oder §°6 Ipty?

Options :

« 25-22-13-6

sl

1.

, o 26-23-14-7

3 % 26-24-12-6

Question Number : 47 Question Id : 8119673004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



if'ACID' = 1C3D. 'PAMPER' = PIMP2R. 'BOMBAY' = B4AMBIY then ' UNIVERSITY' =
'ACID' = 1C3D, PAMPER' = PIMP2R. 'BOMBAY' = BAMBIY 17 §'G Wolwée,
TUNIVERSITY' 630 wler §G wolwiied =

Options :

_— JISNV3RI1ISTY

, » INSV3RS5TY
5 v SN3V2RS3TY

4 % IN3V2SR3TY

Question Number : 48 Question Id : 8119673005 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In certain code FROZEN' is written as 'OFAQTH’. Then how would MOLTEN' be written

in that code?
2358 §G e ' FROZEN ‘% OFAQTH ", o) * MOLTEN ‘6 §¢ ¢ WP oV

Options :

. » OFPOMN

, « OFSMPN

3 @ OFUMPN

4 » OFUNPM



Is Section Default? : null

Question Id : 8119673006 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)

Problem Solving WA

Sequence and series UAVER VMW COWE YOV
Analogies PUrg O

Note:

In each of the following questions (from 49 to 51), a sequence of numbers or letters
that follow a definite pattern is given. Each question has a blank space. This has to be
filled with the correct answer from the given four options to complete the sequence
without breaking pattern.

P ot Y 06 09 (49 ol 51) b &) Nowgthd TP KT 1) &8 Sebeaddido
Q0KEPR), AU 00, 98 D) S aPdd ad)d T aRFU ol DO D
W) 5 6985 AaaSP8 oo SiS0ow POosdols

Sub questions

Question Number : 49 Question Id : 8119673007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

BGH : FKL :: DFK :

Options :

1. % GJO

2, » HIN



Question Number : 50 Question Id : 8119673008 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

236212 378 0

Options :

| % 189

5 x 158

4 v 188

Question Number : 51 Question Id : 8119673009 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

BEHK : 25811 :: ADGJ .

Options :

.« 13810

, « 14810



5 v 14710

4 % 12710

Is Section Default? : null

Question Id : 8119673010 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)

Date, Time and Arrangements
&0, 2500500 00 BHOIL NS

Note: The following questions from 52 to 55 are related to Date, Time and Arrangements
problems.

VIR §ot’.‘5 9@&:@ 52 ok 55 0% é@’lﬁb A0, 060000 A5 05 "(O&'.DXJSUJ
HIATANN]

Sub questions

Question Number : 52 Question Id : 8119673011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At What time between 4 and 5 O’clock, the hands of a clock coincide?

4 350050 5 oo XS5 6 (IGO0 & Dot 0520803 &3 ¢S doborow ?
Options:

21 9/11 minutes past 4
1 w4 Godw 21 9/11 Qawspen

20 8/11 minutes past 4
5 % 4w 20 8/11 Svapen



21 8/11 minutes past 4

3 % 4le®w 21 8/11 Jvapen

21 minutes past 4
4 % 4 Hodow 21 Dvaren

Question Number : 53 Question Id : 8119673012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Six friends A, B, C, D, E and F are sitting around a round table facing the centre of the table.

B s between A and C, D 1s between A and E and F is between C and E. Who is sitting to the

right of C?

w8 Sy wOdER Sompad e elibd e A, B, C, D, E ddatn F w

Srdoymm & . A, C 0% e B; A, E 0 ifgd D; C, E 0% xiped F aamy . €

506350 a5 Sy G ?

Options :

1.“*’3E

Question Number : 54 Question Id : 8119673013 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
What is the angle between the hands of a clock when the time is 1:30 ?

(605G &5 1:30 (fodes D:l:l:leu}/qg :53(:)5 5530 0dots?

Options :

Question Number : 55 Question Id : 8119673014 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The last day of a century CANNOT be weekday?
FT°205) WSO Gz 0o &2z 52607
Options:

1 % Monday ¥earCo

5 Tuesday 0ol G0

5 % Wednesday 22600

4 w Friday H3a2Co



Is Section Default?: null

Question Id : 8119673015 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)
Problem Solving  %30R

Data Analysis grot 3

Table or Graph 28s oo

Numbers in the table represent the number of athletes participated from various countries
during the years 2014 to 2019. Answer the questions 56-60 using these details
2014 ool 2019 DodE\TP0 ahids D BP0 cfdoli P A OFE) Vo € KL GG

éoc&) ﬁ%ﬁg ) GRGIPHow 56 ook 60 ?é%';,'@& VAP TP0e6

Countries — A B C D E
Yearsd | M | F | M | F | M| F | M| F | M]|F
2014 44 | 33 | 63 | 42 | 45 | 31 | 56 | 41 | 47| 21
2015 66 | 42 | 84 | 62 | 69 | 33 | 84 | 63 | 78 | 5.2
2016 46 | 18 | 74 | 48 | 48 | 28 | 93 | 73 | 87 | 65
2017 96 | 49 [ 114 | 84 | 66 | 42 | 126 | 94 | 89 | 5.8
2018 | 118 | 64 | 106 | 52 | 79 | 63 | 144 | 102 | 118 | 9.2
2019 82 | 52 | 64 | 72 | 108 ] 69 | 156 | 121 | 136 | 9.8

Sub questions

Question Number : 56 Question Id : 8119673016 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following years was the total number of participants(athletes) is the second

highest from Country C?
$o0d V&o&ﬁ@boﬁg o C o6 it 5\5”%3"303“@ XJO%DQS (@@@J] Tolead @@5@% VRN

N



Options :

2019

1. %

, » 2018
L 2017

4 % 2015

Question Number : 57 Question Id : 8119673017 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What was the average number of female athletes who particiapated from Country B over all

the years together?

3% B ol 0o KJO&ﬁE’%UW@ﬁ N i\I"Cf ), WaFe° @@fg JgTAY Vf\JoED,S oJoth?

Options:

|« 1200
L« 400

3 v 600

4 % 1800



Question Number : 58 Question Id : 8119673018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What was the approximate percentage decrease in the number of male athletes who
participated from Country C in 2016 as compared to the prevoius year?
(169 Ros569\GoeS” O 201665 G C obe 2Py )8R 9L oty ualeCure oth ko

@Qo&?

Options :

1. % 2]{?’{)

Question Number : 59 Question Id : 8119673019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of female athletes who participated from Country E in the year 2018 was

approximately what petcentage of the total number of athletes who participated from Country

B in the year 20177

2018 Kjoéﬁﬁhéo@ﬁ &40 E Sl 3”%3"\{53’ NV @Qt‘g KJOED,S 2017 boé@béo\'ﬁﬁ &% B ol 3?@5«3;;

080 @@@ bo&)gfﬁd 06T Woth P80 GoQ)?
Options :

1. % 40%

46%



50%

56%

Question Number : 60 Question Id : 8119673020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which of the following countries is the difference between the number of male and female

participants second highest in the year 20157

2015 Rossey0otS” e 00 SiPYL BT IO Doy sdilg sEPsio Sold N i Golad

SIS &olh?

Options:

'I.“'B
2.“"(?
3. % D

4. E
Is Section Default? : null

Question Id : 8119673021 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (61 to 65)



Problem Solving  2aR P
Data Analysts (o DI

Tableor Graph &% &oe

Questions from 61 to 65 Data Analysis using Pie Chart

The Directions: The following Pi¢ chart shows Number or Percentage of women employees in
a company from A fo F. Study it carefully and answer the questions from 61 to 65

Gd0: 300 2 Y A o F 0% 3o shirer adgie Notg H0O PER) wr)dod.

TP (I8P edisalodo BN, 61 Sdols 65 29 0K ArERdo 5ok

Sub questions

Question Number : 61 Question Id : 8119673022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Find the central angle of women employees in company B?

5029 B S02rem sS300 3ol SRRy ST S06?

Options :



Question Number : 62 Question Id : 8119673023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Total number of women employees in company ‘D" is how much more than total number of

women employees in company ‘E’?

Soad D' &od), Ao Niree &8 5{"1}@.} KJosu,S. Soan B’ o iree G Sﬁw E\’JosaJ,S 5o

0ot o'J§\J3To‘3‘.’

Options:

264

1. %

5 % 297

o

#
)
[
ad

Question Number : 63 Question Id : 8119673024 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Find the total number of women employees in company ‘A’ and ‘D’ together?
Soaad ‘A’ 00K D’I'Q dno Darer &l5hu Doaged $Om ST Ie6?

Options :



1. % 1430

, « 1408

Question Number : 64 Question Id : 8119673025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If ratio between number of women employees and number of men employees in company ‘F’

18 9: 8, then find total number of employees in company ‘F".

S ‘B shiree S5l Doty 00N ipe edgfhe Dowg iy WS 9 : 8 wowd,
Soad F'eS AL &0 5(‘330 :30335@ ST ok
Options:

| 561

N
%
N
h
=

4
h
fad
WO

Question Number : 65 Question Id : 8119673026 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Total number of women employees in company 'C' is what percent less than total number of
women employees in company 'A"?
o0 'C'6" 3o 0iree ai3ie dowg S AT oo ssree adfsthe Soag Sofd odots
o 8507

Options :

Is Section Default? : null

Question Number : 66 Question Id : 8119673027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Date, Time and Arrangements
B, 00000 SOOI 0L DadDOge

Which was the day of the week on January 26. 1950?
2550 26. 195003 GoS” &) Fa?

Options :

- Monday - 000

Tuesday- a0o(19's*00



5« Wednessday - endaeCo

Thursday- (w&uaede
4. &

Question Number : 67 Question Id : 8119673028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Date, Time and Arrangements

&0, 2sholo SO0 508w Aehgen

Rita told Mani, "the girl met yesterday at the beach was the youngest daughter of the brother-

in-law of my friend's mother" How is the gir] related to Rita's fiiend?

O, chebed” eind 38 yotbotd, Ay 2o R sy, @ By drehooed) BO8 sk sy Ay

P& 89 3100, & B8P0 b6 3) PO o) AU ool §0 &3 87

Options :

Cousin — 8229
1. %

- Daughter — ety

Neice- 03 §Gen

n Friend- ﬁ}ﬁﬂ‘fﬂmw

Question Number : 68 Question Id : 8119673029 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Date, Time and Arrangements
&0, 2080 SHOAL ©:HO8 gL

Two trains arrived at a station at 10:45 am and 11:50 am with a late of 25 minutes and 30
minutes respectively. What 1s the time difference, i minutes, between their scheduled
arrivals at the station?

Goted e 20507 el K050 SUORIP 25 Aaiddadoen , 30 skodainen weger® 10:45 am K.
11:50 am $) w508 0. a3 0 es(ieldsd VahafFe Sy B , doapees’, alo ?

Options :

Question Number : 69 Question Id : 8119673030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Date. Time and Arrangements

B, VNN DOOIW b5 Kjéobgw

How many Saturdays will be there in December. 2000?

200045 KetyBo GRotd SO o)) IRTPTN Solbron?

Options:



Question Number : 70 Question Id : 8119673031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Date, Time and Arrangements
ARV OWAVORIRAVIIY

There are six members in a family P, Q, R. S, T, and U. Q is the son of R, but R is not the
mother of Q. P and R are a married couple. T is the brother of R. U is the brother of Q. S 1
the daughter of U. Who is the grandfather of S?

P,Q,R, S, T, 50000 U e & SoénoaaceS wthc 2aibgen. R cin, 575 Q #9R, Q
o0, O . P 0000 R aamieed 2o, R Gy e T. Q oy ey U. U cnty
ST S, S A € !

Options :

’I.QT

Question Number : 71 Question Id : 8119673032 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Date, Time and Arrangements
&0, Ashco HB0KN BH08 MLy

A bus takes 3 hours and 30 minutes to cover a distance of 280 km. To make this journey in 4
hours, by how much the speed of the bus be decreased?
280 8.4, iroray 2.8 200y 3 tlodae) 30 dsnare & QPODADNTCY. &8 JASFERRS 4 b QPO

B0 o3, & 230y o oo BP0 ?
Options :

- 12 kmph

,  8kmph

3« 10 kmph

4 15 kmph

Question Number : 72 Question Id : 8119673033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Date, Time and Arrangements
B, 000D DHOALL eadEL Daddgen

What is the angle between minute hand and hour hand at 5:55?
5:55 565 QN0 a0Ln SHOOWN fobder agn S8y §to aots?

Options :

3°

L

1% 1



[a—
h
!HJ'
Lh

)

. . 180.5°

4 % 185.5°

Question Number : 73 Question Id : 8119673034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Date, Time and Arrangements
&4, a2t HO0K waO¥L Daldigen

Anu, Priya, Radha, Janaki, Sruti and Manju are sitting in a tow. Stuti and Manju are in the
centre. Anu and Priya are at the ends. Radha is sitting to the left of Anu. Who s to the Right
of Priya?

o), 0D, o0, a8, )8, o SQRP SRty . DS §)B, e &y, ©)

S$H000 0 S’ 7w 1. e Wialdgiy 0009 KPR, SN S06egT X7
Options:

| % AU — 0
, « Manju — ooe

_ Janaki — 23

4% Radha- o°¢s

Question Number : 74 Question Id : 8119673035 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Date, Time and Arrangements

B8, VNN 2DOOIW b5 SAVSISY

a* b= (atb-1)°-1 > (1*2)*(3*3) =72

Options :

4 % 625

Question Number : 75 Question Id : 8119673036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Date, Time and Arrangements

30, 2080 SO0 08 AIFL

Five friends are sitting in a circular arrangement. In how many ways can they be seated?

D) By 2P SYEP0 oy §r0yTe) 0. a0 ), STurP SPGB 2

Options :

1 v 24



146

4, %

Communication Ability
SectionId : 81196744
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 54
Section Marks : 70
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 76 Question Id : 8119673037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the meaning of the underlined word

The teacher reiterated the importance of steady and hard work for getting through the

exanunations.

Options :

| « discouraged

, « refused

3 ¢ repeated



4 w denied

Question Number : 77 Question Id : 8119673038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct meaning of the following word

Inadvertent
Options :
| » Intentional

> % Inconvenient
3 Unintentional

4 » Conventional

Question Number : 78 Question Id : 8119673039 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose the correct meaning of the following word
Salubrious

Options :

| « Listless

[ustrious
2_ W



5 » Healthy

4« Prominent

Question Number : 79 Question Id : 8119673040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct meaning of the following word

Conscientious

Options :

Lazy

1. %

Meticulous
2

3 = Swift

Conscious
4, %

Question Number : 80 Question Id : 8119673041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct meaning of the following word

Sequester

Options :



1 % Surrender

Discharge

Liberate

Isolate

Question Number : 81 Question Id : 8119673042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct meaning of the following word

Procrastination

Options :
Advancing
> % Planning

Revising

ine
4 Postponing

Question Number : 82 Question Id : 8119673043 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Choose the correct meaning of the following word
Tranquil

Options :

1% Agitated

> % Provoked

- Distorted

AV Calm

Question Number : 83 Question Id : 8119673044 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the correct meaning of the following word

Autocrat

Options:

. Democrat

. Despot

5 « Hypocrite

. Hedonist



Question Number : 84 Question Id : 8119673045 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct meaning of the following word

Jeer

Options :

Investigate

, w Praise

5 » Instigate

4 v Mock

Question Number : 85 Question Id : 8119673046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct meaning of the following word

Lax
Options :

Conscious

1. %

. Careful



5 » Meticulous

4 Careless

Question Number : 86 Question Id : 8119673047 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct meaning of the following word

Novice

Options :

| » EXpert

. Begmner

5 x Device

Provision
4, %

Question Number : 87 Question Id : 8119673048 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct meaning of the following word

Residue

Options:

- Commander



, » Reminder

3 ¢ Remainder

4« Slander

Question Number : 88 Question Id : 8119673049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

The Cows vielded a lot milk. as they were of good

Options :

1 = Speed

, « Dbreed

5 » heed

4 = feld
Question Number : 89 Question Id : 8119673050 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Fill in the blank with suitable word

Her health recovered quickly, thanks to the climate of her country.
Options :
hygienic

1.4

> % unhealthy

5 « polluted

4 % unwarranted

Question Number : 90 Question Id : 8119673051 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

The crime could not be committed without the of higher authorities.

Options :

- disapproval

, » Tejection

5w connivance

4% condemmnation

Is Section Default? : null



Question Number : 91 Question Id : 8119673052 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

Ashok cleaned his room by stuffing everything his bed.

Options :
1 % 1m
> % On

3« under

along

Question Number : 92 Question Id : 8119673053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

[ will meet him Saturday afternoon

Options :

1 % 1nto

with

2. #

3 = [0



on

Question Number : 93 Question Id : 8119673054 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

He was so tall he could not easily touch the ground.

Options:
1w yet

2. ® at

5  that

4 = beyond

Question Number : 94 Question Id : 8119673055 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

It ramed-

Options :

1 = heavy



, % heavier

5 v heavily

4 % heaviest

Question Number : 95 Question Id : 8119673056 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

He has prejudice one side.
Options:

| towards

5, % upon

over
3. %

4 % 1to

Question Number : 96 Question Id : 8119673057 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

The fight originated a silly quarrel.




Options :

1 % of

Question Number : 97 Question Id : 8119673058 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Fill in the blank with suitable word

The room 1s furnished the necessary details.

Options :

1 = about

, & 1N

3 % for

4« With

Question Number : 98 Question Id : 8119673059 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Fill in the blank with suitable word

He became more cautious he grew older.

Options :

| still

- though

3.v 45

4 = hevertheless

Question Number : 99 Question Id : 8119673060 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. Fill in the blank with suitable word
[ will be working 11:30 pm

Options:

3 @ until

. up



Question Number : 100 Question Id : 8119673061 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Fill in the blank with suitable word
Itis  walking on 1ce.

Options :

1 % as

, w being

.- ;

, o like

Question Number : 101 Question Id : 8119673062 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

. Fill in the blank with suitable word

you were out, there was a phone call for you.

Options:

During
W

>« While



. Since

Even

Question Number : 102 Question Id : 8119673063 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

I don’t like being stared

Options :

| w about

, o at

, » after

off

Question Number : 103 Question Id : 8119673064 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Fill in the blanks with suitable word

bird 1n hand 1s worth two in the bush.

Options :



The. an
1, %

<« A, an

. An. the

v A the

Question Number : 104 Question Id : 8119673065 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blanks with suitable word

man. who knocked at door 1s now here.

Options:

1 % An, am

, « A an

5 % Ihe, an

4 The. the

Question Number : 105 Question Id : 8119673066 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Choose the synonym for ‘Denigrate’
Options :

- Refuse

, » Belittle

5 » lerrify

4 % Admut
Is Section Default? : null

Question Number : 106 Question Id : 8119673067 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the synonym for ‘coerce’.

Options :
1 » Compare
, » Compel

3 % Free

4w Endorse



Question Number : 107 Question Id : 8119673068 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the indirect speech for the following:
She said. “I bought a house in Kakinada™.

Options :

She said she has bought a house in Kakinada.

, » She said she buys a house i Kakinada.

5 % She said she have bought a house n Kakinada.

She said that she had bought a house in Kakinada.

Question Number : 108 Question Id : 8119673069 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the direct speech for the following:

He said that he would pay her wages the next day.

Options:

| « He said, “ May I pay your wages tomorrow””.

- He said. “T might pay your wages tomorrow™.



. He said, “ I did pay your wages tomorrow”.

He said, ““ I shall pay your wages tomorrow™.
4.

Question Number : 109 Question Id : 8119673070 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose the indirect speech for the following:

My friend said to me, * let’s go to the gym”.

Options :

. x My friend asked me to go to the gym

, v My friend suggested to me that we should go to the gym

5 » My friend suggested me that I should go to the gym

4 » My friend advised me that I go to the gym

Question Number : 110 Question Id : 8119673071 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct passive voice

They asked me some difficult questions at the interview.
Options :

1.



Some difficult questions are asked at the interview.

They were asked some difficult questions at the mterview.

, » 1 was asked some difficult questions at the mterview.

4 » Atthe mterview I am asked some difficult questions.

Question Number : 111 Question Id : 8119673072 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following 1s the smallest unit of data in computer?
Options:

_ Kilobyte

3 % Nlb]_]le

4 = Byte

Question Number : 112 Question Id : 8119673073 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following refers to an ethical computer hacker, or a computer security
expert?

Options :

| « White Hat Hacker

. Black Hat Hacker
2. %

_ Grey Hat Hacker
3. %

4 Red Hat Hacker

Question Number : 113 Question Id : 8119673074 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

U.S.B. stands for

Options :

» Umversal Serial Bus

1.

, » United Serial Bus

- Umniversal Serial Boom

4w Unitary Serial Bus



Question Number : 114 Question Id : 8119673075 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The bar that appears frequently in text or dialog boxes is a/an

Options :

| « modem

, » Interface

5 » horizontal bar

4 » blinking cursor

Question Number : 115 Question Id : 8119673076 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Four icons used in building Data Flow Diagram are

Options :

| = Source, Process, Destination, Store
v Process. Source, Destination. Store
Flow. Process. Source, Store

4w Flow. Source. Store, Process



Question Number : 116 Question Id : 8119673077 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which does serve as engine of a computer?

Options :

1 » Modem

, » CPU

.« RAM

4« OS

Question Number : 117 Question Id : 8119673078 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The term “Square the Circle” means.

Options :

_— Bringing together two different things

- Distinguishing between two important things

- Opening a new business



) w Beating around the bush

Question Number : 118 Question Id : 8119673079 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
which of the following 1s the wireless communication technology used to replace cables?
Options:

1 » Adobe acrobat reader
, « Firewall

- Bluetooth

4 » Modem

Question Number : 119 Question Id : 8119673080 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Net worth means

Options :

1« Assets — Liabilities

, « Net assets — gross profit



., Gross profit + net assets

4 » Assets Thabilities

Question Number : 120 Question Id : 8119673081 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

SAP 1s a computer software originated from

Options :

- Italy

L« USA

Germany
_\"/ -

4 » South Korea

Question Number : 121 Question Id : 8119673082 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Who 1s the present President of NASSCOM?

Options :

_— Debjani Ghosh



. Raghuram Pillai

, » Rangarajan

4 % Ramesh Gelli

Question Number : 122 Question Id : 8119673083 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank with suitable word

Modern computers are very reliable but they are not

Options :

fast
e

, » Ppowertul

- mfallible

4w cheap

Question Number : 123 Question Id : 8119673084 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Fill in the blank with suitable word

An entrepreneur 1s an individual who

Options :
| o Starts his own company

. works in an established company

- does small errands for a huge company

takes commission from companies for brokerage

Question Number : 124 Question Id : 8119673085 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank with suitable word

15 1ssued by the employer as proof of tax deducted by them only on mcome

from employee’s salary.

Options :

Form 26AS

~ Form 15H
2. %

5 « Form 15 G



v Form 16

Question Number : 125 Question Id : 8119673086 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Fill in the blank with suitable word

Dividends refer to the distribution of money to

Options :

1« the labour 1 the organization

, o fo the owners of the organization

3 % to the middlemen in the business

4 » to the trouble makers

Is Section Default? : null

Question Id : 8119673087 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (126 to 130)



Read the following passages and choose the correct answers for the questions given
below: (126-130):

Cricket has 1ts own peculiar merits as a trammg school for manhood. It 1s the very
cumulative stram of boredom which this game 1mposes that constitutes its supertority.
Any game, too, which by laying down fixed mules, teaches boys not to thmk for
themselves, will be of help to them m their mature years; while should these years
comeide with a period of war, the lesson will be of mestimable value. Curiously enough,
though schoolmasters meulcate the doctrme that an mter-school match 1s a thing of vital
importance to the schools taking part n 1t that defeat to a team 15 equivalent to a loss of
battle by an army, yet certam rules are laid down; and the boy, who believing these
protestations of hus teachers , sought genumely to help his side by the mvention and use
of some ngenious mechanism, by the breaking of some old rule, or establishment of
some new one, would quickly be disillusioned , called to order by the umpire, lowered 1n
the esteem of his comrades, and pethaps afterwards disgraced publicly.

Sub questions

Question Number : 126 Question Id : 8119673088 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The superiority of cricket has its basis in the it generates.

Options :

| « talent

, » duplicity

3. % hatred

4 Strain

Question Number : 127 Question Id : 8119673089 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A game with rules will help boys 1n their years.

Options :

1 = early

2 mature

3 % mmature

4 » formative

Question Number : 128 Question Id : 8119673090 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

School teachers compare a team’s defeat m sports to a defeat in

Options :

| Dattle

2 [reasure

3 % examination

4 = concert



Question Number : 129 Question Id : 8119673091 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

New inventions in sports are often

Options :

| « encouraged

, « rewarded

5 discouraged

4 » applauded

Question Number : 130 Question Id : 8119673092 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The author of the passage opposes

Options:

| « sports, generally

, % Inventive ability

3 @ blind adherence

, » Creative urge



Is Section Default? : null

Question Id : 8119673093 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (131 to 135)

Read the following passages and choose the correct answers for the questions given
below (131-135):

There was an interesting cartoon i an Indian language daily. A politician stocks m his house,
the caps, shurts, upper cloth and flags of all the man parties. He shifts his loyalty to the
winning party, donning the appropriate gear. That 1s the surest way to protect all his
possessions, acquired legitimately or otherwise, and cover up his acts of omission and
commussion. Apart from securing his own mterest, 1t will help his kith and kin too to climb
up the political and social ladder. After all, the quid pro quo system operates i all spheres.
Naive adherence to bookish prmeiples and values 1s of no use m the real world. The
polificians survive on power and their gymnastics are quite understandable. But even well-
paid employees m all careers and professions tend to bend and mend the rules, regulations
and even their conscience to please the higher-ups. Particularly those appomted to serve m
hagh positions by the government of the day, feel beholden to the party or mdividual
responsible for his or her elevated position. They go a step or two beyond what the boss
wants them to take. When asked to bend they crawl, as one political leader said. After all,
who 1s not mterested m promotions, recognition, upward movement of family and friends,
and post-retirement benefits? Most important of all, a few more bucks are always welcome.

Sub questions

Question Number : 131 Question Id : 8119673094 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In this passage what 1s the meaning of ‘Donning’?

Options :

| « Putting off



, » Putting on

, » lailoring

Rejecting
4, % 2

Question Number : 132 Question Id : 8119673095 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

People change parties to escape from

Options :

|« llegality

> = legality

5 % Work

4 » fanuly

Question Number : 133 Question Id : 8119673096 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In this world of ours, 1t 1s difficult to stick to

Options :

| « morals



, » 1mmorality

5 « Ulegality

corruption

Question Number : 134 Question Id : 8119673097 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Survival of the politicians 1s linked up with their

Options :

v mconstancy

, « constancy

5 « respectability

4 » honour

Question Number : 135 Question Id : 8119673098 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The assistants of the boss do anything for

Options :

1.



., derecognition

, » promotion

3 » retirement
4w dismissal
Is Section Default? : null

Question Id : 8119673099 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (136 to 140)

Read the following passages and choose the correct answers for the questions given
below (136-140):

The moming, which 15 the most memorable season of the day, 1s the awareness hour. Then
there 15 least somnolence m us; and for an hour, at least, some part of us awakes which
slumbers all the rest of the day and night. Little s to be expected of that day, if it can be
called a day, to which we are not awakened by our genmus, but by the mechanical nudging of
some servitor, or not awakened by our own newly acquired for and aspirations from within,
accompanted by the undulations of celestial music, mstead of factory bell and a fragrance
filling the air--to a higher life than we fell asleep from; and let the darkness bear its fruit, and
prove itself to be good, no less than the light,. But man who does not believe that each day
contains an earlier, more sacred, auroral hour than he has yet profaned, has desparred of life,
and 15 pursuing a descending and darkenmg way. After a partial cessation of his sensuous
life, the soul of man, or its organs rather, are reinvigorated each day and his genius tries again
what noble life 1t can make.

Sub questions

Question Number : 136 Question Id : 8119673100 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The word ‘somnolence’ refers to

Options :

1 % activeness
- joviality
- dynamism

4 drowsiness

Question Number : 137 Question Id : 8119673101 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A true day is guided by

Options :

| » mechanical impulses

> natural mstincts

5 « greedy desires

4 % overexertion



Question Number : 138 Question Id : 8119673102 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

People should believe each day to be

Options :

|« sacred

, % unholy

5 » mechanical

4 » commercial

Question Number : 139 Question Id : 8119673103 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

must be controlled for the soul of a man to be lifted

Options :

1 Senses

> % Morals

3 % Prayer

4 » Holiness



Question Number : 140 Question Id : 8119673104 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Morning 1s referred to in this passage as hour.
Options :

| = dark

. dismal

5 % evening

4 « auroral
Is Section Default? : null

Question Id : 8119673105 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)



Read the following passages and choose the correct answers for the questions given
below (141-145):

The maxim that a poet 1s born and not made 1s only true m the sense that great poetical
powers are there in the mind of the child and m this sense the same remark might be applied
with no less truth to every spectes of human genms; philosophers, sculptors, pamters, critics,
orators, statesmen are all born and not made. But because poetical genrus 1s rarer or at any
rate wider and more lasting m 1ts appeal than any other, the popular mind with its ready guft
for seizing one aspect of truth out of many and crystallizing ertor mto the form of a proverb,
has exalted the poet mto a splendid freak of nature exempt from the general law. If a man
without the inborn oratorical fire may be trained into a good speaker or another without the
master’s mspiration of form and colour without for himself a blameless technique, so to many
a meagre talent become by diligence a machine for producmg elegant verse. But poetic
gentus needs expertence and self-disciplme as much as any other and by 1ts complexity more
than most. This 1s emmently true of great poets with a varted gift.

Sub questions

Question Number : 141 Question Id : 8119673106 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A child’s mind may contain
Options :

 @reat poetical powers

1

, w great manipulative abilities

5 » diplomatic excesses

4 » only prosaic mformation



Question Number : 142 Question Id : 8119673107 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

According to the author of the passage, genius 1s

Options :
| mbom

, % cultivated

5 » mechanical

4. = obsolete

Question Number : 143 Question Id : 8119673108 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Poetic genius requires

Options :

|  Intuition
., Stereotypimg
~» discipline

3

. LAITOWIIESS



Question Number : 144 Question Id : 8119673109 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

People have a tendency for

Options :

1 = confusing generalizations

, » complex generalizations

3. « easy generalizations

4 « avoiding errors

Question Number : 145 Question Id : 8119673110 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Poetic talent 1s

Options:

| % Dharrow in its appeal

, « lasting in its appeal

- self-defeating 1n 1ts appeal

. 1ncapable of any appeal



Mathematical Ability

Section Id : 81196745
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 55

Section Marks : 55

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 146 Question Id : 8119673111 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - 08icdes 3“1\3350

The ratio of the sides of a rectangle 15 4 : 9 and the area 1s equal to 144 sq.m. The pertmeter in
[meters 1s
28 Eﬁg L&Y Gt deeo 49 K)K;J@é‘siﬁ: 0y gFroxn 144 o oo
USO8 Dige®

Options :

1« 22

26



3 = 18

4 = 30

Question Number : 147 Question Id : 8119673112 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - esositicdes &mgé

By selling an article for Rs.990, a trader makes a profit of 12 %2 %. The cost price of the article in rupees
Is
&8 A9 Br1990 o o @ JGS 12 Y, % erghin D). e

cﬁaaég&"aﬁ& 3 Sriod?

Options :

920

1. #
, % 900

880

4 = 800

Question Number : 148 Question Id : 8119673113 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - epoticds &mgéo

A can complete a piece of work in 18 days. B 15 20% more efficient than A. The number of

days B takes to complete the same piece of work?

28O A 18 8o 370 Tohiord . B, A 50T 20% FNeas0 S0, B &b

A ) 808 30 Dol ?

Options :

1% 12

3 = 10

Question Number : 149 Question Id : 8119673114 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - e908ic3es &mgﬁo

A train takes § seconds to pass a person standing on the platform. If the speed of the train is 36 Kmph
then 1s length in meters 1s

8 B 5arop Denld o8 $80 8 Red® winh. Bov o) Ao Kok 368

&, eand o B P hiags’

Options :



| % 115

90

110

Question Number : 150 Question Id : 8119673115 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - e908ie3ed 3“10%0

Two numbers are 1n the ratio of 4 : 7. If 14 1s added to each they are m the ratio 5 : 7, then

find the numbers ?

Goté éoep:gm 4:7 S@@éﬁ @é&&l & Eéoanegeén 14 5 5020 5:7 S@@éﬁ @05,@

Rogge 2d)?
Options :

1 » 20and35

, » 12and 21

3 ¢ 16 and 28



. 15 and 18

Question Number : 151 Question Id : 8119673116 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e908ie3dd bvmgso

The average age of 5 cluldren 15 § years. If the age of the father is mcluded to the

children average becomes 13, then the age of the father is
5 0l hge Joid DA 8 Doien. & dgek 650@ Glo%) Jhin SDBRYD
Qo0 Hbiy) 13 ©ODd éo@ ), i)

Options :

1w 38

2. % 37

3.x 34

30

Question Number : 152 Question Id : 8119673117 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - e908ric3& &mgéo

Two pipes A and B can fill a tank m 12 min and 18 mun respectively, if both are opened
simultaneously then the time taken to fill the tank m minutes 1s

A 0000 B )00 28 ST SO 12 )|, 18 Q)| ©F oo,
000N 230 SN 8 ST A0GETE N 00D

AreS

Options :

s

1. % z

1

7 fi

2.¢ 3
2

'? =

3.8 3
1

8 =

4.% 3

Question Number : 153 Question Id : 8119673118 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - @0%(iedeh @mgso

A, Band C can do a piece of work m 4.5 and 7 days respectively. If they get Rs 415 for
working together to complete the Job, then A’s share 1s

X, B D00 C 0 2.8 DAV SHIT 4, 5 060 7 Fxed b

BaDKO. € S0 8O EF. 415 0TV A Tg) T¢F Joe ?

Options :

. = 170
, » 185

.o 175

, « 180

Question Number : 154 Question Id : 8119673119 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - e90&(3e3¢H :}omgéu

It G _11) (;) = (g) then 2x — 3y =

C ) =(0) et ze3-

Options :



4.v 0O

Time:0

Question Number : 155 Question Id : 8119673120 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Arithmetical Ability

- 9083E3ed PG 0
@)
Vi+4d5 J7-5
V7T — "‘vﬁ VT ++/5
Options :
1. % 2435
~2435
2. #



Question Number : 156 Question Id : 8119673121 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - @083 .3‘):))%0

A Bag contains 3 red balls, 4 white balls and 7 black balls. The probablity of drawing a

red or a black ball 1s

28 00 3 0w, 4 Bensy OO 7 SO0 0K GO, 28

D) T 2,8 305 206 TRFRS ) 0FSed )0eh?

Options:

1.4

=1 | =

=1 w

~]| =

4, =

Question Number : 157 Question Id : 8119673122 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - 2908(3e3¢H 3";‘_13%::

1 5
If v=x+—then o —Ax 4] =
z

1 _
y=x+— oowd x'+x -4’ +x+1=
-

Options :

5 3-7)

1%

, » F G Fi-3)
2 (._1-‘: -

3, %

4.9 *(y*+y-6)

Question Number : 158 Question Id : 8119673123 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - e908tie3eS &mglso

[fK +2, 4K-6 and 3K-2 are three consecutive terms of an arithmetic progression then the

value of K 1

K +2, 4K-6 000 3K-2 &9 S 500 Hered 085B O &% K dens

2)0ch ?

Options :

4

1. %

2.v 3

Question Number : 159 Question Id : 8119673124 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - 2908(3£3¢H 5"5&39}50

If the 5™ term of (2x2 + %)5 1s 10, then x=

R :}

i s @
2x%+2 | G 5% B8 10 wowd x=
I'-\. ‘T-‘_nl

Options :



Question Number : 160 Question Id : 8119673125 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e908tie3es 3"0‘.1)%0

Equation of the lie passing through the pomt (2, -3) and perpendicular to the segment
jomning the points (1,2) and (=1,5) 18
(2,-3) Dotdy thow Feér (1,2) OO (-1,5) Dothos Lendér Goe

Ta% dooaorr &oa 680 SEsndn

Options :

1« 2x—3y—-13=0

> & 2x—3y—7=0

3 % 2x—3y-9=0



4% 2x—3y—-11=0

Question Number : 161 Question Id : 8119673126 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e908¢edeh 5)"330%50

; 2 dy
If y=tan 1x, then ==
dx

" dy
y =tan lx @0oNs d—}_:

X

Options :

Question Number : 162 Question Id : 8119673127 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - e90gtiedeh 3"6)%0

If a flag of 6 meters height, placed on the top of a tower throws a shadow of N3
meters along the ground, then the angle m degrees that the sun makes with the ground
I8
28 B0 6 Son Ao aéBow %) ¥ 13 Qg Ertind® Jops H88
Rulovi(ey o8 3D Sosw
Options :

| % 30°

iz 75

Question Number : 163 Question Id : 8119673128 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - e90Sie3eh bomgga

15 Cot8+17Sin 6
8 Tan @+16Sec @

i
If Sin€ = 1—? then for 0° < @ < 90°

15Cot@+17S5in 8
8 Tan 8+1685ec @

15
Sf;‘?(‘}zﬁ oond 0°<8<90°%

Options :

I3
)

1« 49

4% 49

Question Number : 164 Question Id : 8119673129 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e90Ste3eh 5‘?;‘.139)50

3 —_—
yHtar—2

lim,._.
x—0 ”



Options :

1
2

Ll | =

Question Number : 165 Question Id : 8119673130 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - e908c5e3¢h &aﬁ)ggo

Ifx* + 2 (K +2) x + 36 = 0 has equal roots then K=
X+2(K+2)x+36=0% Botd 358 Loreren Ho& K Dend

Options :

Loy —1



4or- 8

Question Number : 166 Question Id : 8119673131 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - 9083 &mggo

If the area of square field 1s 7200 sq. m then the length of its diagonal in meters 1

2.8 5@36@96?’@ tPod e 7200 S1dn oo 58sim Q) PED
NS’

Options :

v 120

, % 130
5 % 140

150

Question Number : 167 Question Id : 8119673132 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - @o&Hie3¢s 3"&‘))9}50

Three numbers in the ratio 2:3:4 have their sum 270. Then L.C.M. 15
2:3:4 Q586" o Sy Sogge Inéin 270 SODAYCD Hrtd Sogg 8.1,
Options :

. x 120

, » 360
5 % 240

4 % 270

Question Number : 168 Question Id : 8119673133 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - 083 mgéo

The g. ¢. d. and Le.m of two numbers are 12 and 252 respectively. If one number 15 36
then the other is

0ot doage K.ar.a@. a0y Eak.K. oo 8o 12 $H0ckh 252. &b ogg 36

©008 V0&% Kogy 0)D0) 0)OEH ?
Options :

44

1. ®



32

26

4 v 84

Question Number : 169 Question Id : 8119673134 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e908teded 3"&’3)9)50

The cost price of 16 pens 1s the same as the selling price of 12 pens. The percentage of
profit s

16 s E%) do 12 e @813@26 0% Hdardo. el PdDos?

Options :

v 33/%

30%

3 % 25%

16 %/1 %



Question Number : 170 Question Id : 8119673135 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e9086e3¢d Jea08 0

=t
_ 1 1
lim [ —

—2|lx—2 x2—-3x42 -

Options :

1.% 4

Question Number : 171 Question Id : 8119673136 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - @908re3e 5"&’139}50

The distance between the lines 3x +4y+ 1=0and 6x + 8y -1 =015

3x+4dy+1= 050805 6x+8y-1=0 Opo gy ErEsm.

Options :

. % 0.1

, % 0.2



. 03

0.4

Question Number : 172 Question Id : 8119673137 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - es08ie3eh 5":&39}50

If 82 %= 162 thenx=
824 — 162 ewopd x Dend
Options :

1.«'-«"”2

Question Number : 173 Question Id : 8119673138 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - e908He3es 3":))%0

The volumes of two cones of equal height are m the ratio 1849 : 961. What 1s the ratio
of thetr radi ?
28 ) Ko Dok 0590 0 HOSTRS 1849 1 961 e &

&) 0. 7S TSRO0 D) Oeh ?

Options :

. % 41:31

, % 39:31

5 v 43:31

43 :29
4, ®

Question Number : 174 Question Id : 8119673139 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - @ogticdd &mgéo

A sum becomes double 1n § years at simple mterest. What 1 the rate percent per annum ?

S8 DB € R 8 N0 850 B0 @b,
2098150 T08) 5B TS o ?
Options :

1% 12%



8%
5 12.5%

4 % 7.5%

Question Number : 175 Question Id : 8119673140 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Arithmetical Ability - e908¢e3¢d Jre08 0

@)
I 8
if A= then 4% =
0 1



Question Number : 176 Question Id : 8119673141 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Arithmetical Ability - e908¢e3eh 5";‘_13%0
If E:E:Ethen 3a—2c+4e _
& d F 3b-2d +4f
a ¢ e 3a—2c+4e
—=——=—— &0y ==
& ¥ 3b-2d +4f
Options:
b
1. ® (1
a
2. b
d
3.8 C
4



Question Number : 177 Question Id : 8119673142 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - es08iie3eh 5";113%50

The solution set of x> + 6x < 91 is
X*+6x < 91 &Y FEFS &
Options :

. fx: =3 < x< T}

x 1X: =10 & x <& 7}

o =1 < X 7]

w{x:—?«::x«:::lB}

Question Number : 178 Question Id : 8119673143 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Arithmetical Ability - es0%(3edeh 5“&’3)%50
. 40

; : ; ; LA™ .
Which term 1n the expansion of l .*r——J 1s mdependent of x ?
\ X

/ 40
v | ogses x ang ol B IO ?
.

X

Options :



th
4 11

Question Number : 179 Question Id : 8119673144 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e908tic3% bvmgso

A. B and C start a busmess with mvestments of Rs.6,000, Rs.7.000 and Rs.8,000
respectively. The profit at the end of the year 15 Rs.3,150. Then share of B i the profit
I8

A, B aB0ON C 0 28 ) ST GF. 6,000, &, 7,000 a0HAWN
4r. 8000 DEVAS FE0D0DTD. 0S8 ITRE SN erdaw §r.

3,150. 95 )C B O308) eF2ad 0h ?
Options:

. % 900

5 @ 1050



5 x 1200

, « 1000

Question Number : 180 Question Id : 8119673145 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - o%Hedes bvmgéo

The father 1s 7 times older than his son. After 5 years the sum of their ages would be 50
years. The son’s age at present 1s

28 $08 S0HMS TR 0B dAosden DT, 5 N0 T

S0 FOD SOHRN) IS 50 0a) Jainen. (enesey ey
DODA) 008 ?
Options :

1 5 years

5 = byears

3 % 8 years

4 % 9 years

Is Section Default? : null



Question Number : 181 Question Id : 8119673146 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraical and Geometrical Ability - e rie3ed svBotw Sar Keded 3“3&)%0

-23
Tan (—:rr) =
3
Options :

1
\-g

{-.
L~:'I| e

Question Number : 182 Question Id : 8119673147 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Algebraical and Geometrical Ability - 2es rie3ed o800 Ba riched 5“&‘1)%50

If the angle of elevation of the top of a tower of height 100 meters from a pomt to its

foot is tan ™ (g) , then what 1s the distance from the point to its foot, in meters?

100 &S IO FEB50S% Foss Ardoe H) 2.8 Doty ok
eid¢ 80 Tan'IG) OB & D0 od 39 T o
EPE5D, DOSS’ Jos?

Options :

« 110

, % 120

v 125

, « 150

Question Number : 183 Question Id : 8119673148 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraical and Geometrical Ability - 2es tiehe o8k Baw feded &mgéo

If x* —x3 + 2% + ax + b is exactly divisible by x* — 3x + 2, then (a,b) =
-3+ 22 tax+h e x? =3 +2 8 aO)Somr 2, @) (a,b) =

Options :



. 13,12
L (—14,12)
. (14,12)

L (—14,-12)

Question Number : 184 Question Id : 8119673149 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraical and Geometrical Ability - 2e rfed¢h So8akw Barw rieded &mgﬁo

(14+V2) +(1-V2)' =
Options :

34

1.4

2. % 17



Question Number : 185 Question Id : 8119673150 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraical and Geometrical Ability - e rie3ed 080w Sar ieded 5“&’33-:350

5
If A 1s anon-smgular 3 X 3 matrix. then H

A2E 58 3 X 3 SraE oS, % -

Options :

L . 64

4 v 125

Question Number : 186 Question Id : 8119673151 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Algebraical and Geometrical Ability - Des (3 0Bk e Hedes .3%‘.0%5
M
lim 5 (l +—) =
X500 X
Options :

1.% D



Question Number : 187 Question Id :

8119673152 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Algebraical and Geometrical Ability -

If y=x(x-1)(x-2) Theu%:
y=x(x=1)(x-2) @cm@%:
Options :

1. % 3.3{'2 —b6x — 2

2 :
- 3T b A2

3 % 3x% + 6x + 2

3x%2 4+ 6x—2

Question Number : 188 Question Id

Da B3¢ B0%w Bar K3 3“&&)&5)50

: 8119673153 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Algebraical and Geometrical Ability - e fieded 0805 Fgr (ieded &mgéo

If each exterior angle of a regular polygon 15 36°, then the number of sides of the
polygon is
2,8 18 2:T0EHe Bg) (e aTER0 36° oS, & TvHe Bk
22O 0 :

Options:

1.v 10

Question Number : 189 Question Id : 8119673154 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Algebraical and Geometrical Ability - £ He3e o0k g riedes 3“:3)9)50 0

What is the area, i square units, of the triangle formed by the points (3,2), (3,-6) and
(52)?
Dot (32), 3,-6),5,2) O IES 3HE IFOLEW, IO

TS J0eh?
Options :

10

1. %

g% 12

Question Number : 190 Question Id : 8119673155 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraical and Geometrical Ability - D 663 ook Gar (e 3“:1)35

The equation of the straight line passing through the pomnts (1,—5) and (=2,4) is
D00 (1,-5), (~2,4) © H0@ 5 8 T By, ahESeasin:
Options :



2.w3x—|—y—2:0

3 x X—y—2=0

4o 3x+y+2=0
Is Section Default? : null

Question Number : 191 Question Id : 8119673156 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - (§E7°08 5":13350

The arithmetic mean of 7.6, 6.8, 54. 64, 72.48. 6.6 and 5.8 1s
7.6,6.8,5.4,64,7.2,4.8,6.6,5.8 0308} @08 s0E 50600
Options :

.« 6.523
, . 6345

L« 6235



Question Number : 192 Question Id : 8119673157 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - tfET"0S 5“;‘.1:-%0

What 1s the Geometric Mean of 12. 30 and 75?
12, 30, 75 O30F), 1969 050D DE?
Options:

2

N

Question Number : 193 Question Id : 8119673158 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - (fE7”0% bumgéa

What 1s he Harmonic Mean of 3. 4. Sand 6 ?

3,4,5,6 @ B0, 370758 050D DE?

Options :

. 524



Question Number : 194 Question Id : 8119673159 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - ie0s 5)“;‘13%0

The median of 260. 240, 210. 190. 180. 220, 230, 250 1s
260, 240. 210, 190. 180, 220. 230, 250 E_ﬁ}}ég, Jﬁﬂf)gﬁéoﬁ})
Options :

1@ 225

-2
)
=

220

I
(Y]
N

Question Number : 195 Question Id : 8119673160 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Stafistical Ability - (feod @mgéo

The arithmetic mean of some numbers 15 18 and their median 1s 16. Then what 15 the

mode?

0 03O G308 @08 AN 18 aO0I) e N5 16
S0DNYC 2TTVFEN )N 2)OEH ?

Options

15

1. ®

2.v 12

Lx 17

Question Number : 196 Question Id : 8119673161 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - (fE3°0% :}umgéu

The Standard Deviation of 2. 4. 6. 8. 10 1s
2.4, 6,8, 10 A30Z) 15600TID
Options :

V6

1. %



Question Number : 197 Question Id : 8119673162 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - ({370 5‘&‘.}){5@50

The mean deviationof 3.4, 5. 6.7 1s
3,4,5,6,7 O30 o5 a)TIIId

Options:

Question Number : 198 Question Id : 8119673163 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Statistical Ability - tfeos &mgéo

P and Q are two sets such that n(P) =3 and n(Q) = 4. A relation from P mto Q is
selected at random. what 1s the probability that the relation 1s not a function?

n(P) =3, n(Q) = 4 T ) dadeeD P, Q &, P o Q & 2.8 0208
AP )50 DOHEOD , 96 (0D T8 TS (0 02TSed
00 ?

Options :

63
1 & 64

31
2. ® 32

15

127
128

Question Number : 199 Question Id : 8119673164 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Statistical Ability - tieos 5“:1){350

When two dice are thrown, what 1s the probability of getting the sum 7 ?

B0 aFEeN QRON)C, INDO 7 T HT3,) D0ATI5eh )Oeh?

Options :

1.8 ©

o | =

2. &

Question Number : 200 Question Id : 8119673165 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - igwo8 3“11)250

A com 15 tossed 6 times. What 1s the probability of getting head atleast once?
2,8 a0 6 ) ADESIH SN 2T ) THERG
(10) 027565 )07

Options:



4.

33
64

27
64

63
64



